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Section C
Answer any three questions.
Write your answers in the answerbook containing Sections A and B.

11. (a) Explainthe following terms used in ecology:
(i)  Biosphere
(i)  Abiotic
(iii)  Niche (9)
(b)  The diagram shows an example of interconnected food chains.
(i)  What term describes a collection of <. owl FO);,(}' /jb
interconnected food chains? vid
(i)  What is the primary source of energy \
for a producer in a food chain? \;4,
(iii)  Identify a producer from the diagram. Blaéﬁ—b}rd
(iv) Name one carnivore from the diagram.
(v)  Whatis an omnivore? A
. . . Spider
(vi) Name one omnivore from the diagram. \ f
(vii) Write out any one food chain from the Grasshopper .y
Aphid /&
diagram. \ )
(viii) Suggest what would happen to the WMQ‘@ %@
population of aphids if a disease Grass Blackberry
reduced the spider population. (27)
(c) Read the following passage and answer the questions that follow.
A recent Environmental Protection Agency (EPA) report states that a large number of
Ireland’s rivers are unable to support healthy ecosystems. Many of our rivers are
under pressure from excess nitrogen as a result of discharges of poorly treated sewage
or slurry and fertiliser runoff from agriculture. Too much nitrogen in a water body can
lead to the over-growth of flora, which can also reduce oxygen levels. Reduced oxygen
levels often cause fish kills.
(Adapted from www.epa.ie, 13 November 2019)
(i)  Explain the two underlined terms.
(ii)  Name two activities, referred to in the article, that can lead to high levels of
pollutants in rivers.
(ili) State two harmful effects, referred to in the article, of pollutants on river
ecosystems.
(iv) Name the important biomolecule in living things that requires nitrogen.
(v)  Nutrient recycling is essential for healthy ecosystems. Name a group of
organisms that act as decomposers in the nitrogen cycle. (24)
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12 (a) Explain the following terms used in genetics:
(i)  Diploid
(ii)  Haploid
(iii) Allele (9)
(b) Read the passage below and answer the questions that follow.
Cystic fibrosis (CF) is caused by a mutated gene and its protein product that causes the
body to produce a thick, sticky mucus that clogs the lungs and leads to lung infections.
Inhalers and daily physiotherapy help to manage the symptoms of CF. People that do
not have CF have at least one dominant gene (N). Some people can be carriers
(heterozygous) and not have CF. People with CF have two copies of the mutated gene
(n), one inherited from each parent. Genetic screening is available to those over the
age of 16 where there is a family history of CF.
(Adapted from mayoclinic.org)
(i)  What s the cause of cystic fibrosis?
(ii)  State the genotype of each of the following:
1. A person whois a carrier of the CF gene.
2. Aperson with the CF condition.
3.  The possible gametes a carrier can produce.
(iii) Using a Punnett square, determine the percentage chance of two carrier parents
having a child with CF.
(iv)  What genotype should one parent have to ensure their children do not inherit
the CF condition?
(v)  Whatis the purpose of genetic screening? (27)
(c)  The cell cycle consists of two stages, interphase and mitosis (cell division).
(i)  Explain the underlined term.
(ii)  Describe the process of mitosis. You may use a labelled diagram to aid your
answer.
(iii)  Name another form of cell division that introduces variation to the daughter cells.
(iv)  Name one cell in the human body produced by the form of cell division you named
at part (c) (iii) above.
(v)  Name one organ in the human body in which the form of cell division you named
at part (c) (iii) above occurs. (24)
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13. (a)

(i)  Where are the lungs located in the body?

(i)  Name two substances excreted by the lungs. (9)

(b)  The diagram shows the structure of the
human breathing system.
Trachea
(i)  Name the parts A, B, C.
.. . . Small
(i)  What is the function of the % air-sacs
trachea? \
(iii)  Name the two muscles involved in
. > C
breathing. '\
(iv) Name the small air-sacs in the lungs, .‘
located at the ends of structures C, {‘\\
)
in which gas exchange occurs. \lf"
(v)  Give two ways in which these "!,
il
air-sacs are adapted to carry out v
their function. (27)
(c) Read the following passages and, using either asthma or bronchitis, answer the
guestions that follow.
Asthma is a condition that affects Bronchitis is a condition that affects
the airways in the lungs. They can the breathing tract. The main
become inflamed by the presence airways can become inflamed. Acute
of cold air or dust. When the bronchitis can occur as a result of an
airways react to a substance, the infection and can improve within a
muscles of the tube walls tighten few days. Chronic bronchitis can
up, making them more narrow and occur as a result of smoking and is a
leaving less room for air to flow. long-term condition.
(Adapted from www.asthma.ie) (Adapted from www.mayoclinic.org)
(i)  Write down the name of one of the conditions and:
1.  Give a symptom of the named condition.
2. Describe a cause.
3. Suggest a possible treatment.
As part of her preparation for a race an athlete investigated the effect of exercise on
breathing rate and pulse rate.
(i)  Describe how an athlete might have measured either breathing or pulse rate.
(iii)  After measuring the resting rate, what other steps would the athlete have
carried out to complete the investigation?
(iv) What is the effect of increased exercise on either breathing or pulse rate?  (24)
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14. (a)

(b)

(c)

(i)  Whatis an enzyme?

(ii)  Name one factor that affects the rate of action of an enzyme.

(9)
(i)  Photosynthesis is an anabolic process.
Explain the term anabolic.
(i)  Name the cell organelle in which photosynthesis occurs.
(iii)  Name the pigment that absorbs light energy for photosynthesis.
(iv) C«(H20)y is the general formula for one of the products of photosynthesis.
What group of biomolecules does this general formula represent?
(v)  During photosynthesis water is absorbed and split into oxygen and two other
products.
1. Name the other two products produced by the splitting of water.
2.  Give one possible fate for the oxygen.
(vi) Carbon dioxide is absorbed by plants during photosynthesis.
1.  State a source for the carbon dioxide.
2. State a structure through which the carbon dioxide enters plants.
(27)
Water enters the roots of plants by osmosis, which is a special case of diffusion.
(i)  Explain the term osmosis.
Turgor is also important for plants. The pictures, A and B, show two plants cells.
A (/—\‘2 __—— Nucleus B )
X \
S J\mergilrlane/ /
(ii)  Explain the term turgor.
(iii)  Which cell, A or B, is turgid?
(iv) Name the cell part that prevents a plant cell from bursting.
(v) Name organelle X, an important storage organelle in plant cells.
(vi) Explain in detail what has happened to cell B.
(24)
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15. (a)

(b)

(c)

(i)  Name the growth response in which plant stems grow towards light.
(i)  How do plants benefit from increased light intensity?
(ili)  Name another environmental factor that regulates plant growth. (9)

The diagram shows a section through a plant stem.

(i)  Name the tissues labelled A and B.

(ii)  State a function for each of the tissues you named at part (b) (i) above.
(iii) Name the structure labelled C.

(iv) Name the cells found in structure C that transport water.

(v)  Name the cells found in structure C that transport food.

(vi) State one way in which a section through a root would be different from the
section above.

(vii) State one reason why the diagram above represents a section through a
dicotyledonous plant stem. (27)

The diagram shows a plant flower.

X N,

Y

(i)  Inyour answer book, state which letter represents each of the following parts:

1. Stigma
2. Sepal
3. Anther.

(ii)  Name the structure in the flower that forms the fruit.
(iii)  Explain the term pollination.
(iv) Name two methods by which plants are pollinated. (24)

Leaving Certificate Examination 2022 6
Biology — Ordinary Level

Section C



16. Answer any two of the following sections (a), (b), (c), (d). (30, 30)

(a) The diagram shows the human male reproductive system.

Bladder
A
B
D
C

(i)  Name the parts labelled A, B, C, D.

(ii)  Name the male hormone produced by the structure labelled C.
(iii) Give one function of the hormone named at part (ii) above.
(iv)  What is meant by the term infertility?

(v)  Give a cause of infertility.

(vi) Explain the term contraception and give one example.

(b) (i) Draw alarge labelled diagram of a typical bacterial cell.
(ii)  Name two bacterial shapes.
(iii) Explain the term binary fission.

(iv) What term is used to describe bacteria and other microorganisms that cause
disease?

(v)  What are antibiotics?

(vi) Describe a disadvantage of the overuse of antibiotics.
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(c)

(d)

(i)  Give two functions of the skeleton.

(ii)  The human skeleton shown in the diagram can be
divided into the axial skeleton and the
appendicular skeleton. Name any one bone found
in each of the following parts:

1.  axial skeleton
2. appendicular skeleton.

(iii) Draw a diagram of a long bone and label the
following parts:
compact bone; spongy bone; bone marrow

(iv) Name the flexible tissue present between bones in

a synovial joint and give its function.

Plants can undergo a process of vegetative propagation or artificial propagation.
(i)  What is meant by the term vegetative propagation?
(ii)  Name one method of vegetative propagation and state the plant organ involved.

The diagram above shows grafting, a form of artificial propagation.

(iii)  Name the parts of the plant labelled A and B on the diagram.

(iv) Name two other methods of artificial propagation.

(v)  Suggest one advantage of artificial propagation for horticulturists.

(vi) Compare reproduction by seed with reproduction by vegetative propagation
under the following headings:
1. Variation
2. Dispersal.

Leaving Certificate Examination 2022 8
Biology — Ordinary Level

Section C



17. Answer any two of the following sections (a), (b), (c), (d). (30, 30)
(a) The diagram shows a section through the spinal cord with attached nerves.

Grey 7

matter

Sense organ

White
matter

Effector

(i)  White matter contains axons. What is the function of an axon?
(i)  Grey matter contains cells bodies and dendrites.
What is the function of dendrites?
(ili) Name the nerve cells labelled A, B, C in the diagram.
(iv) Give an example of a sense organ.
(v)  Name or give an example of an automatic response to a stimulus.
(vi) How does an automatic response to a stimulus benefit the human body?

(vii) Compare a nervous system response with a hormonal system response under
the following headings:

1. Speed
2. Duration of effect.

(b)  The theory of evolution by natural selection was developed by two famous biologists.

(i)  Explain the underlined terms.

(ii)  Name both biologists who developed the theory of evolution by natural
selection.

Genetic engineering is also an important area of biology.
(iii)  Explain the term genetic engineering.

(iv) Give one example of genetic engineering involving a plant and one example
involving an animal.
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(c)

(d)

The circulatory system is one of two systems that carry fluids within the body.

(i)

(ii)

(iif)
(iv)

(v)
(vi)

(i)

(ii)

(iii)

(iv)

(v)

(vi)

The heart is an organ of the circulatory system. Draw a large labelled diagram
showing the internal structures of the human heart.

The diagram shows two cell types (X and Y) present in the blood.
Name the two cell types X and Y.

X

Platelets are another cell type found in the circulatory system.
Give one role of platelets.

Name any two blood groups found in humans.
Name the other system that carries fluid within the body.

Name the fluid carried by the system named at part (c) (v) above.

Distinguish between autotrophic and heterotrophic nutrition by writing a brief
sentence on each.

Chemical digestion and mechanical digestion are part of nutrition. Both can

occur in the mouth.

1. Describe how both types of digestion take place in the mouth.

2. Name one other location in the human digestive system where both types
of digestion take place.

What is the name given to the muscular contractions which force food along the

alimentary canal?

The list below shows some of the organs of the alimentary canal.
Write them in the correct order, starting with the mouth.

mouth; stomach; rectum; largeintestine; smallintestine; oesophagus

Egestion is a necessary part of the process of nutrition.
What is meant by the term egestion?

Symbiotic bacteria are present in the alimentary canal.
Give two functions of these bacteria.

Leaving Certificate Examination 2022 10
Biology — Ordinary Level

Section C



Do not hand this question paper up.
This document will not be returned to the
State Examinations Commission




Do not hand this question paper up
This document will not be returned to the State
Examinations Commission

Copyright notice

This examination paper may contain text or images for which the State Examinations Commission is not the copyright
owner, and which may have been adapted, for the purposes of assessment, without the authors’ prior consent. This
examination paper has been prepared in accordance with Section 53(5) of the Copyright and Related Rights Act, 2000.
Any subsequent use for a purpose other than the intended purpose is not authorised. The Commission does not
accept liability for any infringement of third-party rights arising from unauthorised distribution or use of this
examination paper.

Leaving Certificate - Ordinary Level

Biology Section C

Tuesday 14 June
Afternoon 2:00 - 5:00




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /Bahnschrift
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /Calibri-Light
    /Calibri-LightItalic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Candara-Light
    /Candara-LightItalic
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /ComicSansMS
    /ComicSansMS-Bold
    /ComicSansMS-BoldItalic
    /ComicSansMS-Italic
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CorbelLight
    /CorbelLight-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Dubai-Bold
    /Dubai-Light
    /Dubai-Medium
    /Dubai-Regular
    /Ebrima
    /Ebrima-Bold
    /FranklinGothic-Medium
    /FranklinGothic-MediumItalic
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Gabriola
    /Gadugi
    /Gadugi-Bold
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /HoloLensMDL2Assets
    /Impact
    /InkFree
    /JavaneseText
    /JuiceITC-Regular
    /KristenITC-Regular
    /Leelawadee
    /LeelawadeeBold
    /Leelawadee-Bold
    /LeelawadeeUI
    /LeelawadeeUI-Bold
    /LeelawadeeUI-Semilight
    /LucidaConsole
    /LucidaHandwriting-Italic
    /LucidaSansUnicode
    /MalgunGothic
    /MalgunGothicBold
    /MalgunGothic-Semilight
    /Marlett
    /MicrosoftHimalaya
    /MicrosoftJhengHeiBold
    /MicrosoftJhengHeiLight
    /MicrosoftJhengHeiRegular
    /MicrosoftJhengHeiUIBold
    /MicrosoftJhengHeiUILight
    /MicrosoftJhengHeiUIRegular
    /MicrosoftNewTaiLue
    /MicrosoftNewTaiLue-Bold
    /MicrosoftPhagsPa
    /MicrosoftPhagsPa-Bold
    /MicrosoftSansSerif
    /MicrosoftTaiLe
    /MicrosoftTaiLe-Bold
    /MicrosoftUighur
    /MicrosoftUighur-Bold
    /MicrosoftYaHei
    /MicrosoftYaHei-Bold
    /MicrosoftYaHeiLight
    /MicrosoftYaHeiUI
    /MicrosoftYaHeiUI-Bold
    /MicrosoftYaHeiUILight
    /Microsoft-Yi-Baiti
    /MingLiU-ExtB
    /Ming-Lt-HKSCS-ExtB
    /Mistral
    /MongolianBaiti
    /MonotypeCorsiva
    /MS-Gothic
    /MSOutlook
    /MS-PGothic
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MS-UIGothic
    /MT-Extra
    /MVBoli
    /MyanmarText
    /MyanmarText-Bold
    /NirmalaUI
    /NirmalaUI-Bold
    /NirmalaUI-Semilight
    /NSimSun
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /PMingLiU-ExtB
    /Pristina-Regular
    /SegoeMDL2Assets
    /SegoePrint
    /SegoePrint-Bold
    /SegoeScript
    /SegoeScript-Bold
    /SegoeUI
    /SegoeUIBlack
    /SegoeUIBlack-Italic
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUIEmoji
    /SegoeUIHistoric
    /SegoeUI-Italic
    /SegoeUI-Light
    /SegoeUI-LightItalic
    /SegoeUI-Semibold
    /SegoeUI-SemiboldItalic
    /SegoeUI-Semilight
    /SegoeUI-SemilightItalic
    /SegoeUISymbol
    /SimSun
    /SimSun-ExtB
    /SitkaBanner
    /SitkaBanner-Bold
    /SitkaBanner-BoldItalic
    /SitkaBanner-Italic
    /SitkaDisplay
    /SitkaDisplay-Bold
    /SitkaDisplay-BoldItalic
    /SitkaDisplay-Italic
    /SitkaHeading
    /SitkaHeading-Bold
    /SitkaHeading-BoldItalic
    /SitkaHeading-Italic
    /SitkaSmall
    /SitkaSmall-Bold
    /SitkaSmall-BoldItalic
    /SitkaSmall-Italic
    /SitkaSubheading
    /SitkaSubheading-Bold
    /SitkaSubheading-BoldItalic
    /SitkaSubheading-Italic
    /SitkaText
    /SitkaText-Bold
    /SitkaText-BoldItalic
    /SitkaText-Italic
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /TempusSansITC
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /YuGothic-Bold
    /YuGothic-Light
    /YuGothic-Medium
    /YuGothic-Regular
    /YuGothicUI-Bold
    /YuGothicUI-Light
    /YuGothicUI-Regular
    /YuGothicUI-Semibold
    /YuGothicUI-Semilight
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


